T 105
TETTE ANTH
Y 29 THUT WA : 200 TERUT IO ; 200
1. ‘g’ & wivren were fastao ofms 7
(A) Tafer fasivor (8) Tt farstsor (C) mraTtE B (0 GramETes fagyor
(A) ST fRaATE (B) e frme (C) srafay framg (D) g Bramag
3. S T | U2 w7 TR eerE e HieEl.
(A T (B) ™ (C) =i waAT (D) TFmfasyo v
4. Ereie yeaTdld ST 316 oflewl.
(A) 1= (B T (C) s (D) w&T
5. ‘T & 9IsE HIE A0 YHNE Fizdl ?
(A) WTEITEF A9 (B) fawm am (C) wH= 99 (D) fereerlt
6. Taer Tega T AHIE ¥9 9 €O Wieflaiel 158 0] 7
(A) =TS (®) = ) =g (D) d=
7. ‘FAE 91 e AT T Teg 3T,
(A) T2 (B) W@ (C) a=m (D) STy
8. ErcAleTsh! aoay YIee 3T,
(A) (B) T ©) @& (D)
9. ‘fites’ =1 yrsaTen yATHT Iee INB@T.
(A) =TS (B) e C) (D) ¥Fed
10. ‘a7ss 71 yrsgTen AN T ofteE.
(A) A9 + = (B) I +H C) H+=9 D) &L +F
11, ‘myeR A1 FTSaTE SR IR Sl
(A) T@ B) fFeF (C) W (D) HerTft
12, Qe AEHaT aaTiE weg Hiedl.
(A) T (B) gt (C) TR (D) FreATgE
13. @i Sfentt e e
(A) (B) & € = D) 3=
14, GATAYH TS TH HI0G 7
(A) e (B) e © fo= (D) W
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15.

16

17.

18.

23.

24.

25.

26.

28.

29.

30.

31

32.

R
areie] A FdE FEEE T & 7 ,
(A) =TTEe TEd (B) =mTEad R (C) FrTEa 9)
. RS A1 e TR HIO0 7
(A) wrEhT (B) wifaeft (C) wEA D)
FHITITT S [T Yed T STHard ¢
(A) SATT-garaT (B) Tl -Ter (C) T -zl )
(A) T ST @R (B) Tt yerrd farefac
(C) W % T (D) STEHT AT TS AL
AT ST W AT A1 QR AEE A0 7
(A) HEHITFHATS (B) VoI @TE (C) Hz m D)
. wye’ A wisaTa faegrei wiee feE
{A) &5 (B) 319Ih (C) dEeg (D)
(' et O AT ATRYEEA] ST AR Sl .
(A) FTTEE T 2901 (B) & <M (C) FTHET TR (D)
R N At AR R R R A EC kA
(A) T&TqTT (B) faywar (C} ferwsastt (D)
(A) % ST FEUEH TR, (B) B & FATGH] TR,
(C) ® T e o712, (D) B e 3TTET I TR,
%3 foga, oy faget 1 emeEE ST S,
(A) TE¥TIEdl (B) <3 {C) Twrd (D)
FEEE Al o forge wedt. @ o o e
(A) FHier aftermm a=e 2 (B) ErEwe BV
(C) WA T3 Ay fiyeu (D) ATTEAT WTUE WATE ET.
Choose antonym for word ‘Bridge’
(A) Open (B) Divide (C) Release D)
7. Choose synonym for word ‘False’
(A) Incorrect (B) Inaccurate (C) Untrue (D)
Choose correct spellings from group of given words below
(A) Pleasant (B) Pleasent (C) Plesant (D)
Choose the one which expresses the meaning of ‘Pros and cons’.
(A) Forand against a thing By Good and Evil
(C) Formerand later (D) Fauland Fair
Choose the meaning of phrase — ‘To bell the cat’.
(A) To tie bell to cat’s neck (B) To make noise
(C) Totake aleadin danger (D) To be alert of enemy
A word no longer in use
(A) Extant (B) Nervous {C) Obsolete D)
A person appointed by two parties to solve dispute
(A) Advocate (B) Judge (C) Barrister D)

AR

et aned
FrIeA!

figeftarr—=rqeff

FHIE THY
SHIE!

~

YT

Bind
Defective

Plisant

Qutdated

Arbitrator
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Replace the words/phrases underiined in following sentences.
So as to make them more meaningful and effective (Q. 33 and Q. 34)

33. He did not know the answer and | did not neither.

(A) and either did | (B) and either did have
{C) andneither have |l (D) and neither did |

34. Pashupatinath is 2 worth seeing temple in Kathmandu.
(A} One of the worth seeing temples (B) Atemple worth seeing
(C) A tempile to see its worth (D} No correction

35. ‘I had gone’ — Identify tense of the sentence.
(A) Simple past tense (B) Simple presenttense
(C) Past perfect tense (D) Present perfect tense

36. ‘Who teaches you English ?” — Select a sentence in passive voice.
(A} By whom are you taught English ?
{B) English is taught by whom ?
{C) By whom will you be taught English ?
(DY By whom were you taught English ?
37. She said to him, “why don’t you go today” ? — Choose the alternative in indirect speech.
(A) She asked him why he didnot go today.
(B) She said to him that why he didnot go today.
(C) She asked him if he was going that day.
(D) She asked him why he didnot go that day.

Choose the correct alternatives from given below (Q. 38 to Q. 40)

38. Mumbai is one of the biggest cities in India.
(A} No other city in Indian is as big as Mumbai
(B) Mumbai is bigger than any other city in India
(C) Very few cities in India are as big as Mumbai
(D) Mumbai is the biggest city in India

39. Radhika was too weak to walk.
(A) Radhika was so weak that cannot walk.
(B) Radhika was so weak that she could not walik.
(C) Radhika was so weak that Radhika could not walk.
(D) Rachika is so weak that she cannot walk.

40. No sooner did | finish the work than | feit comfortable.
(A) Hardly had | finish the work when | felt comfortable.
(B) Hardly did | finish the work when [ felt comfortable.
(C) Hardly had been | finished the work | feit comfortable.
(D) Hardly had | finished the work when | felt comfortable.

41. His houseis to mine. Use proper form of adjective.
(A) nearest (B) nearer (C) near (D) next
42. ldentify the wrong contracted form -
{A) We have - we'll (B) tis—1It's (C) 1shall =Tl (D) Whatis — What's
43. The rainfalt India varies place to place and also from year
year — Use proper preposition.
(A) over ; with ; by (B) of ; from ; after {C) in; from;to (D) for . with ; after

SPACE FOR ROUGH WORK
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~y

mplete the sentenice with proper word from alternatives (Q. 44 10 (. 49)

24 Heigtoo  tobe deceived easily.
(A intelligent {B) strondg (C) kind (D honest
45. Thebureaucratwas  torhisrolein scam.
{A) Indicted (B) criticised () reinstated (D indited
46. He _________inwearing the old tashioned coat in spite of his wife’s disapproval.
{A) resists (B) desists (C) persists (D¢ insists
47. Nosoorerdoeshearrivethaneverycne . upinhishonour.
(A) stand {B) stands {C) stood (D got
48. Thesun_____ ___atsixthis morning
(A) arose B} rose {C) aroused Dy raised
49 Washingmachines __________popularin india in the last ten years or so
{A) are becoming {B) are become (C) became (D1 have become
50. Choose masculine noun for feminine nour - ‘Bee’.
(A) Peacock (B} Drone {C)y Tiger (T Bull
(A) 1/9 By 1/3 (C) 1/4 (Cr 1/2
50 UF YETE] 2 1 B, SET A YR 4 AT S . qds e 2 3.1 Sarard JaH sua A ars
ST 7
{AY 1 By 2 € 1/2 (C) 3/4
53. T Wik G, ¢ 37 3 350 oh IR @ e oA T ¢
2 T, 5 5
®) g ® Fre © 2rn © wrth
54. 7 fe=a oA qetiea ST D 2835 TR, e 59 35 9N ST U He = a7 fohdl 9y 35 7
(A} 5 (B) 11 ©) 9 Cy 7
55. W qETETe fuserea B SiHen e 17 |1, 25 @ § 26 1. 77eq; o [Weeidt & fadl =LA
37 7
(A) 204 (B) 196 (Cy 202 (C) 208
56. 4x2, 18x3 3nfur 30x == .|, Wefieri= Fom ?
(A) 540 x° (B) 90 x° (C) 1808 (C)y 180x3
57. G B0 a7 FHER AT 7
2 .
(A) x+==5 ® (y+3) (y-1=7
(C) 4m + 1 =m? D) 2p(p—-2)=p+2p°+3
a5 . ¢ 3. _ Jad-ybc -+bd
:38 — == N < ==, Kk = ?
b 3 d 5 od

8 3 8

-1 ®) = © fz ] © Tz

59. T WRHS BT Hadder fe 7 § e, w e e sieder fran e af se 7
(A) 21 ®) 7 ©) 14 D) 28
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60

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73

W x=7dy=8;q—|4x~5y|= Trdl ?

(A) —12 ®B) 12 ) -3 D) 3
TIP=(3,57999Q={1,2, 7} MEAP-Q="?

(A) {3,5} (B8) {1,2, 3,5} ©) (7} D) {1.2,3,5,7)
arefiereh I Eee gHis w7

(A) 7x+3=0 (B) 7y+3=9y -3

©) x_._:.(_:d, (D) X2 +5=(x+2) (x+3)
XI+1Vx1l=7?

(A) XXX (B) XIX €) XVli D) v
werT Aol fifiedt (12x — 20y) . AR, 9 IRE &he Tl 7

(A) 144x2 - 480 xy + 400 y? B) 9x2—15xy + 25y

(C) 36x2—120 xy + 100 y? (D) 9x2— 30 xy + 25 y?

J121 g0 x -2

X
(A) 12.1 (B) 0.121 (C) 121 (D) 0.0121

19T w45 TR, AT STOTHY U 5| i feemf fuffe a3 diewd. STodt awf wad 54 L ST
e Frtiea ool fuifm S25an 20 ff @ deed. T o Fmmeam TR St o ?

(A) 90 T .. (8) 180 f& .4l (C) 270 fe . (D) 75 o A1
1.5 fufyers 12 aramh e fadt ?

(A) 240:1 (B) 1:240 (C) 1:480 (D) 480: 1
Wé@ﬁémﬁgﬁmesﬁﬂaﬂa%mﬁmﬁﬁmm.mmmwéﬂ%ﬁ?

(A) 34l (B) 4.54l. (C) 2.5 (D) 354
TEET

(5n+2_3X8X5n)

5M*1_3x5"

A~ B) ~1 o) -+ D) 1

A 3 ®) - © -3 D) 1
(2.65)° -(1.35)* _,

265-1.35 ,

(A) 1.3 (B) 13 ) 4 (D) 040
wreseTd 9 AT 10 fif gl sraer ar e 3 e Feier S 79 e 7

(A) 140° (B) 145° (C) 150° D) 150°
T ST T widfiE 72 § . srers foe awes et = A AL sree 7

(A) 693 (B) 1232 (C) 308 (D) 616
DAY F?

A) G B8 U C) E O T
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(A) 9 (B) 24 ©) 32 D) 36
3 4 6 5
4 3 2 3

(A) 48 B) 72 (C) 80 (D) 40
76. @eferdl JEE S fee

(A) 9l - ZTa® (B) =T - IEIHF [ STEEHA

() fie - 3131 (D) SHET=AT I ST FH - 35%
77, EeieE T e o ¢

(A) FrFet gaue - U e (B) e @ - Y Sfemma

(C) TR ~ U SfraEe 0y T - & e
78. WA FhH T F0H 7

(A) T gzens famea - ae (B) 3T I FOR 0 - Soamef)

(C) T Fam BT - oW Ias (D) wrE v fEkE w0 - =g
79. 3T=A1 AEATHT =5 HULTARET FHIvIT A0 AT 7

(A) ETETITE (B) 11 (C) =T (D) foamt =3
80. ‘Tude’ & |fay e aTquEd sEs 57 7

(A) T + FrTee (B) s + leyfufam

(C) 55 + Hofid (D) 99 + SR
81. weteriE TH S FoR 7

(A) 'O @I ~ G e (B) TR F01 ~ TG

(C) THIEH FOH] =] - ATl (D) ‘B’ a1 - g
82, wd wegT I G FH AT BT 3.

(A) Ieff=ar (B) usfr=m (C) =hzar=m (D) w=u=an
83. TR HISHHT F1257 1] U1 3ard, W0l &1 17

(A) I qaTEF T (B) I GATEH T2

(C) ITTaT I T4 (D) I S B ATE.
84. it SfeHTa 5= SrTarell TR BT AT |11 S A

(A) = B) I (C) 3rET= (D) =FfEfmaa fafed
85. I YIS SATSTATA 1ed TVATS] ST TRvATHET SIATS Tt Y3t REIpRISH

(A) T seFEm (B) @I z3=n (C) Tearefta D) fTemde
86. HTHI HRST G FhelE] ITEE T TSV g q8d. ~ H0

(A) TRH! THINT ST e A= (B) ATET BT ITEIIF TR,

(C) ¥IWEl o= HR f9ga yae A g, (D) SIWET Faehia STl

SPACE FOR ROUGH WORK
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87

88.

89.

©
o

91.

94.

95.

96.

97.

98

99.

(A) FHTE (B) adETEETET

(C) =TT T HIOSTT (D) HrerETEn
UHTETRA =T S0, STERT 1 e | GaTe GETa I1 FIOIEe Uaet g A A
SIES

(A) TSearfasf (8) qeErEd tfie

(C) Toeemfyg ot aftdt () Tawrf sy

(A ToTrart Rizgw - drgw (B) Tl 2fewn - gdhe

() Ty Rfgaw - fg (D) fe. €. u. 2feag (s ~ 3=
WRA T TETed TR QR HI0ET 7

(A) Tt (B) WA (C) Ty (D) TEeft
(A) s (B) Foed (C) wreraTd D) TF

“ :i q¢ C{} q %5 Fﬁ‘rg e I Sﬂ?‘ﬁ

(A) FTE -~ FraaEE did (B) T - gaiTien AT

(C) WIS - TEHINE FTeRTeA! (D) IFF -

&t wersaTEt ufeef) TseT g

(A) TS (B) g (C) T (D) TETITE
A e Wl 0 HagH Har 7

(A) STFENT, T8 3§ fauraT 2w

(B) TIFHGHT T TSTH] Gy

(C) TrerayT, TaavT, faamey 3 faam ofwe gee
(D) FF ATFET TTH

105

RIEH

geaftarea IRTe fafsTse sep gad fowa 7w wro
(A) =&ffa url deadeET o (B) A=t afta T wafty et awely 3R
(C) TET=gTER YEYF THT S A (D) =t e 5 weflg v firsy oz
G AL FHTATE ST S0 FATN TR HBGe .
(A) 3T T (B) =raA1 @iy (C) FIET T ©) s e
shiE gealatier wemsd e I3 i 7.
(A} 8 B 5 (C) 10 D) 4
. TRl W ST T S ATCHT U SHIAT e 1] Ziiell, 6 Af e el H7aTe i 05 S
FIBTT
(A) g2 . (B) & TE. (©) fme ader. (D) ITe A,

I FTATSON=AT 9T STTZ1 SR 9T B GHTONd 3772,
NRGRIE (B) HTHATET () fomaman (D) weaTET

SPACE FOR ROUGH WORK
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100.

102.

106.

107.

108

108.

110.

8 TR R

qret e s Tee AR,

(A) T TSH (B) 2. gearE (C) 1. TR (O I, A7, &
. WA shivreaT SRR wEHe ST AT S 7

(A) TR iR (B) fagga arhrfeht

(C) Tuyeg Afifd (D) =l gd sty wam

TG TR

(A) T 2 Safgear=h qm o7,

(B) AT HHT e 07, FHeR TEtE 10 99 Bd.

(C) TS FTHTETE! ANV @ifge, HTHEET A0 @ T S Fev I AN
() &= (A), (B), (C) &

. ST UH. L JE9E CAQ iR’ A urgsrea T YuE AT ERier STHard.

(A) 841 x 1189 (B) 880 x 1230 (C) 420 x 594 (D) amieh Ay
- T 00T JHI 3T § S1ET AT qiEer= Ig wifaef s
(A) H.2H, 4H (B) HB (C) B, 28, 3B, 4B (D) 0 5d
. FETEET FTETE AT G St s7Ed ¢
(A) FTET BaF, & wEe, T g (B) SHHITFH, FUH, FheFh
(C) FrFIeTzr, TIEEHA, ANHA (D) 73t (A) 9 (B) wefici T
IET ATES SWAATEA F I TR SIS YFTHT HTETE Seaie] ogd. fa= 379w
(A) == (B) regfufmm (C) UaTEZ ) 39
B 3 T ST G BASTE! TS WA i Rl ?
(A} 420 T7HT. x 297 /i Hl. (B) 500 @.H. x 350 #i. =,
(C) 700 =151 x 500 Hi.H. D) (A), (B), (C) T& s
FIEEEE IR I ITHOTEAT GAYIIR § AR FH JeqET 9 ST TR ITFTE WO HH
T AT ATEE] I8,
(A) A, FTHATTH, HIFIT (B) Todremer
iC) ¥ TERT, FIIAIE (D) =Y ATy
STETRET 120 BLHT. Tl STed SATA T8 HeUaTHIE] WA v IR TR HE S 7
(A) =T FTH (B) ThyfT a1 (C) FuE (D) =9 T3 39T
SRR TS T, 9iEE 9 9941 9T arafauaraE I ST
(A) <7 FC3 (Thin dotted ) (B) 17 &=d=437 (Thin continuous)
(C) == F=Y374 (Thik continuous) (D) it g4 i

97 9TRATE.

AT 7 fG8OmT (Hidden) T=w Fraf=oamardl
(A) = F==g31H (Thin continuous )
(B) FeeHe ofiH w=113Td 7 ofiF 4= HH (Alternate Thin Continuous and Thick continuous)
(C) o ziee, 2w/, @ 3 1 /.07, 9
Dy ek BieE 5 HLH, o o 2 ..
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112, SRS 3% (Section) geifevarard LT ST
(A) o T2 I (Thin straight line) & 60° =T &I O]
(B) °fFF € e 11 (Thin dotted straight line) § 30° =T &1 SH{um=41
(C) T TTde {97 (Widely spaced thin line) 313 T30 45° =T 619 shetedn 1 9 1.5 .41, fown tvmefia
FTAT TGV 11
(D) IveATe! Wb ST@fee ait Sretdiel v e B¢ 7 T 90 v
113, T3 GIR FOAEE! FIUE G707 A9 S ?
(A) Tregfem =51 (Reducing scale) (B) w=Tfsn e (Enlarging scale)
(C) (A)a (B) TE= (D) (A) 3 (B) =1 T
114, foizifr=z %799 (Representative Fraction) @Tefiel SHTU Hlgala.
(A) ===l v wTE WIS ST e
(B) @A ATET W FE= Hez el
(C) AT &ATell R 21 i T qe ol

(D) =TT AT
115, 5ot fiergda sedirfier g G2idfier ned ara svamEE] 1 ; 4 TS SRt dAR FROEEE
(A) 25971 (B) 509 1. () 12.58.1. (D) 62.57.4t.

116. 10 =41, ATl T gURTMT @Ieiel Fel STTHvF 378,
(A) fooien Tz PQFRT, G P T Q9 U 9§ PQ/2 FaT S Brewn o INraere T Sl STST ST
HadH TREFT T2 T T RN DR g S I Fel. Faeted 191 {URE e S By a1
S Tog g Er=a1 5 18,
(B) THAITE! W1 TGS HIGA 5 H.71. Ss1an INREerean SR US fag e, w1 6 e g
(C) (A) T (B) ZI21 SR T4
(D) (A) 9 (B) a1 Tl 27,

117. SRS =] 69 918 H1 s 3.
(A) 900° (B) 540° (C) 360° (D) 130¢
118, T1alna Sgy e =ar Her T guRTeAT ST5aT g Yadg __ ErafEr.
(A) =8 (B) Fr=ar (C) w= (D) =~
119, WAB=AC £/ BAC=90°3DF = EFFAO0 = OB @ g E &1 HEAleg 3712,
C
N .
F
D
A & B
(A) =g (B) T (C) weFH (D) TFEH
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120.

121.

127.

. ¥EEE T AT wTEEl 9§ 7

10 AR

T ATFAIED F 8 =1 geAfog 3R,
(A) =™ (B) TeHR (C) FeFH (D) T

SO YA Tgdt 7 |l faummaeie Fiv foes stet og 7
(A) S 3XUT TSN F TSN Ul eATE TS feed g dae! S

(B) = IANGESA HI d TEeA] WAt @ieft Tevreia fag=an =ona Jaelt 9.
(C) urEwRy 7 3T uraet yreaTHed a5y 3.
D) (A) T (C) T ==
| 3TEE WA A e yaraTE TEVTTE.
W A e @) SR (O) e (©) A T T

3. e avifaeier Sate e g witeerrand) aTee S 7

(B) ZTE! FIFH (C) TxE (D) T TTE

L AT aeiiaed TaeTe FIETES 3 5 7

(A} T (B) wTerER (C) afex T ©) T TR

AT (B) 21T ©) &= (D) “EETeeE ST

5, TET (B) U7z EFR (C) T3 T (D) 9
FEE T AT Ee FIEE A 7
(A) FF2 %A (B) T#== 57 © fafem & (D) FA T

. g geifacs faata samae = 74 7

[\ e
1T

3 TEE (B) === C) w2 (D) AT AT

SPACE FOR ROUGH WORK
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129.

130.

131.

132.

134.

135.

136.

138.

FTheTd geifaciat fasta semaret are 58 ¢
(A) SIS YT FAE  (B) U (C) P D) WA 71
O --O---0O---0
(A) FUTEE did (B) =Ll i (C) zoiad U (D) =TT g7 ess
(A) F1/2Ra &5 (B) Far &= (C) enfi & (D) stered
ST SHAR A6 9 ST aTe g s R s aeieid S w19 HoaE 9 7
(A} STTHAFT SIS SeSTER SHFH FHI0AE WA 3.
(B) 39iE aaE™ H2uid fEm g wre.
(C) ArRg= Frefavars fidy aee .
(D) ATHEFT FroE T
. TSR Seieh HIeATs SRS el Sr=a] SISl U SR qET.
(A) T e (B) T Tyl (C) o Tgute (D) 7= gty
TEE A @l 331, wden, den, T o, 3ot T we e weew i BReE 24 3 e 3t
(A) 9.50m=,2.50m, 2.75m (B) 10m?,3.0m,3.0m
(C) 7.50m2,3.0m, 3.0m (D) AT 7
SIRHETE] AT e ufan, R 4, fe 3=h EGCaARce i
(A) 20m2,20m, 3.0m (B) 25m?,3.0m,2m
(C) 1.8m2,1.20m, 2.20 m (D) =mahT A
DI 2 a1 Sesdten sala Sveta A Tie afere =t T FHH g
U] e T
(A) 1.06Hta1.40%1.  (B) 1.0F1.255. (C) 1.0H.a 1.0 (D) 1.05# .3 1.204.
® 3 ® 3 © =+ O 4
ECERECHIC R c I

(A) TH AUFH HT%S T TS SAED

(B) I WA &ha WISl Ukl ATETH d%a
©) %ﬁawmmﬁr@aﬁ%m
(O) =E T
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138.

140.

141,

142.

143.

144.

145.

146.

147.

148.

149.

150.

151.

A2 TR

Wﬂﬁﬁﬁ%@mma&mﬁﬂaﬁmwm Ed.
(A) 0.50 ®) 1.0 (€) 0.80 0) 0.75
2fEm Shee il I 7
(A) TETIHATHR & TAHER
(B) G ST S ST 3T e
©) = T TS T SarEATS STHE de
(D) ¥ B 3 C A8 del
srfern R ST AuTT TRE =1 ot feven o
(A) IR e B) foeset LR
(C) oz ffese SEREHHH (O) wfe affees i
froaard e o ardw wved famer aetfean ?
(A e () (B) =4 (W) (C) ®E(0) (D) 7 (P)
Sy} ST TEH T F 7
(A) Faferrfra st (B) HrIwRY Thwar
(C) REF (D) AF B AR
ST ST W Sufird e AT U EH AT I
(A L1, IV TSI} ® 1,2,3,4....... ATTHIT
©) A, B, C, D TS (0) e = s
maﬁaﬁmwﬁlﬁaﬁﬁmwmwm@ﬁamﬁﬁm?
(A) = (B) I (C) swreht (D) wrdHm
(A) IITHATSAT S RGREISIEY (C) TEEHAH (D) FEEAIEE
WW@WMWWWWWWW?
(A fade (B) feeet (C) WA (D) TES
ST THTE ST G et 1 I S AT 4 AT
(A) SRS (B) =™ () A (D) AL
TS AT e YA & EELRIGRGIGE
(A) T (B) @A
C) fa=# (D) =etiel f&ar il
mmwwrmrmmmmmmaﬁ% s T forean Al
(A) T (B) FRIES (©) T (D) TEETd
1 fafe (1) o &xA (radian).
(A) T e ®) 1=z (©) 10800 tfem (D) 1/10800 EIF
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IR 13 105

152, GEEmE (sentesimai) faftemsan o sime WiswaTaE! A,
INREDH (B) itz ) 7 (D) fea
153. fdmmes= muys=es i
(A) 1073 i, (8) 1076 . €) 107 = (D) 10712 1.
154, Jedi=a1 TRARTES THIF (spherical) 27Te1 9 IF $1A A1 ST SoRele $ 5 Ush Hehe STHATH &5
(A) 100 =t = By 200 T =i =i (C) 195.5 f 5. (D) 185.5 o =t af
155, HISTHTH ST $TaT9 ey A srfavgend o A AT AT,
(a) ofgm (8) Hfam (Cy frretdrer (D) 29 2T &
156. sferd =i aref g,
(A) 502 (B) 100%2 (C) 50X (D) 100 X

157. ST sEfHam TherHed Erefiel TS TEAT 3FHd.
(A el wher=an n Tasdeg U (n - 1) Teediorg el whar= n fesdioma SU ¥ srama.
(B) =efHe whersm n Tl U5 n feedismg yrmdl sa=a (n +1 ) Tesdfiemg wet fommerenn s,
[ nS

(C) wrmd) w=Esar n feedisg Ul n fesdiern = fen wra=ar n fesdiog vey fneiean sraam.
(D) AT B TERE T

138, "I HUATEE] AMETEE U= 137 @4 (Gunter's chain) @ 98- (Revenue Chain) Ji=a1 Sisl siqFd

Y14,

(A) 66 F2, 33 (B) 3372, 66 £ (C) 5072, 100 B (D) 100 %2, 50 B
159, e Uz = e 37T,

(A) 2 HiX (B) 3 ©) 4z (D) 2 e g 3 Hiex
160. THAIYT UT3E 7 TATT=T 77 HIAoarId] ST

(A) T (B) =iHss (C) o= (D) =TT AT
161. Heg a1 e s Misvamand) ITRATE.

(A) frnids Fag (B) HE ©TF (©) U (D) =T AT
162. 68° 32' IT ElciHehd (ST (W.C.B.) ®ig-eet faifon 5ea wrat 1.

(A) N68°32'E (B) S68°32'E (C) S68°32'W (D) =TT AT
163. TH=a1 a faarfin g wr fyerfor s _ETF ATl

(A) 90° (B) 180° (C) 270° (D) ITHhT AT

164. i 9 Tt TS
(A) =1 MikFs HUE Tey fheg o F W10 a-glel 34T 4d.
(B) I1 IThehet Horg Wed fipes o I WA SaTTesdT UshT AdT ST 99 AT,
(C) Tres =reh ol Sheama AAfthomed wifdn oA 4.
(D) FTdahT ATE.
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165.

166.

167.

169.

170.

171

172.

. ST @ (Collimation Line) T80t

A4 RO

TReTel FIRUATA ST ST STFE HIGUATHE! AT,

(A) T Ug! (B) M (C) Trmides Fume (D) IS
a‘lv:M:’r‘a‘éaww,Fazaﬁénﬁ%n,|R=§wmﬁéﬁ%n,N=3maﬁow@%ﬂémwm,c:f€wﬁ
(A) &%z = M (F. R. — |. R. - geawd= fifgn £ 10N+ C)

(B) &%z = 2M(F.R.~I.R.L10N)

(C) &%z =M (F.R.+ L. R. £10N)

(D) T A

(A) 100 frespse Saet sraeien wrm for feg

(B) 0 fregrs siga wracian 55

(C) TEd wrEerean frawss rogaran Hm fer foy

(D) =Taeh! AT

(A) FTE 3T Fadfeg g AL Het A T &l
(B) IrirEen Fzfig @ Hiesde a1 FEfg ASUHI S
(C) = affaas et weeet T o T
(

D) =ievhR
aferd YFH32 (Box Sextant) 4 1 WIS 4aTd.
(A) ®F 90° =41 3T (B) 120° =1 AT
(C) 120° =41 e 9 180° =41 HialA (D) A9 Bzl
(A) THFTS 3T TS (B) sediwrd it HISwaEEt
(C) A9 B aEER! () A 9 B Il Al
3fE3TT (Ediograph) =139 AT,
(A) T=ATSIHE SAT%F ©F (Enlargement of plan)
(B) frzsam 317% wi= (Reduction of plan)
(C) AT B e
(D) FTIER! AR
e S R 100 iz e @ Swarde i 1.5 . sda 3 wr ez fifé 1,650 Hier srie at e fage!

fleEg deed (R.L.) 13 38d ¢
(A) 96.8571. (B) 103.159. (C) 100.154!. (D) 99.85H!.

. I AT ST Feel dd e

(A) Tavrar (B) 9Tl (C) wagt Fa (D) ITIhT ATED

SPACE FOR ROUGH WORK



L 15- 105
174, adesremn sfagdn Saar seered e i fis o et

(A) SfiaT saTEmg Uhey srag (B) Sftar =mE ey 1w
(C) i & SIT8 YA AqaTd (D) Sftan 3 =718 gaywTong AR
175. T S eiiel ThE ST ade FEmr AT AT
(A) & (B) @M (C) =T ) 2R T
176. BT e = ?
(A) T x 3= (B) 9 x 3 x 0.5
(C) 2 9mr x 3= (D) =Ty e
177, AT WEHTCeA] ST T T a7R 7
(A) TeTam (B) AidRfea (C) = yiaafia (D) Tdfrad
178. AFTEAT ST STl e faet argd ¢
(A) 5% (B} 10% ©) 15% D) 20%
179, FHN (37%) TIR FIAMT &€ HI0E YFR 198 511 7
(A) HHIR - (B) FEEA (C) TR D) 3
180. U@ WA 129 G2 M S5y o Fre TS WES T S F A E s TEUIATA.
(A) T ATFEHE (B) e o77% frars
(C) et HwHTH (D) TTdl=h IR wew Foar g

181, R Ul v
(A) FUTEI =T T faeiet srear 3am (B) F@UMeRIe W& T=aT JrawTTE feie 37 3a7

(C) @ T SHTea 3qR (D) Tz T 39 AN
182. W S B2 AFTAAAT S, S a9 2 Fvr A sy __®Em.

(A) gEITadT (B) TR (C) aruTTaTaRT (D) STerRTHEwER
183. Fifthewan fagonet wmt e wooareft gy _ Teourem wmvfiass sty

(A) 20 (B) 28 €) 30 D) 35
184, T HETaMITE Sefas 51 . A

(A) 20 (B) 25 Hiex (C) 351 (D) 45 diex
185. Sl somTe STl T F e e 39 e

(A) Tfgsm s@Ete (B) faetiehe Hicvram o

() Tifemm weinrEs D) Faam

186. Hifhe=an fyyomet 9 Fomsfar fef s ?
(A) FifHz Tige FoamEE)
(B) =ifFened am ynromaaoft fasvamsiar
(C) Fifhzneiel 599 Y292 9 Werear TN FATERET
(D) HifFe 7 diEs A= i Fio o
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187.

188.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

16 TR

S T TS R TR FoAT] Sl ST ST JogT YeATSl UTAT sIevATeR AT o Yehrdret s s ¢
(A) EE HFHTH (B) TR FTHeTH (C) UEA HTHSIH (D EETHd BrHeIA
spsbre foprfira T Soarangt shivTeT dATEr AT el Sl ?

(A) s (B) HTIHITE () s Dy EEEETR

. FEHTETIT HIS UTEEHN Wahed fT2ad ez (Dependable yield) Tt STHvaTd AdTd.

(A) 807FF (B) 100TFH (C) 75TFk (C) 50 Fh
ey afsg Wit STHd.

(A) TEEAEE SEE (B) TH 3RO (C) 7= HizX (0) |/ TS HiX

T SRR S GRS BT U aTea d9Td 3a1. 39, %, s, aafl, g

T EFAAT TR

(A) BETHAA THe (B) =F @ (C) Thet AT Higd (0) T Tl

(A) SEFTHR Tha (B) wH=HA (C) Thet 3T HTgH () T A

30 &Y, a1 S wref AEvT AT greard e wid gen, s fifie g

2 Ueheh ATHATd.

(A) Hiex (B) T i (©€) T HRE (D) 100 TR HT
Ttz i s, o). ©. Tt R WS U .

(A) "X (B) Fgferk HieX (C) TR HI (D) Ty Gdmlet
e 78 (Trusses) F1E! HISHTITS TFH 3T,

(A) fea B) 8.4, (©) T O RESIE]

THFdE IR HEEE A, B, W s Il B TFF ITHAE.

(A) T2 (B) Hiex © = (D) WIS THH TR
T F e ST AT FHERE! T SATHATT

(A) FgfFF HieX (B) T (C€) T X D RETSIDES

(A) Fgfer Tt (B) TR HIX (C)y Tm Hrex ) 1
TR SR TR FEvaEE] AT JuTTT v aEd e _ TEUEE.

(A) STETNTTH (B) e fFFa (C) vy fFma () IEEESRERE
2. . €. € (Damp Proof Course) RISTUAETE! REEICIEIGICN

(A) Fgfer et (B) THEIHIX () "X (D) aferdeht A=
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